PHYSICS

BOOKS - ZEN PHYSICS (KANNADA
ENGLISH)

ELECTRICITY

Questions Section In Text Questions

1. What does an electric circuit mean?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5uNZzoBSQFJN

2. Define the unit of current.

o Watch Video Solution

3. Calculate the number of electrons
constituting one coulomb of charge. (charge

on 1electron =1.6 x 10~ )

o Watch Video Solution



https://dl.doubtnut.com/l/_5uNZzoBSQFJN
https://dl.doubtnut.com/l/_ChAxoehLffNr
https://dl.doubtnut.com/l/_f9H8LAApfDlQ

4. Name a device that helps to maintain a

potential difference across a conductor.

° Watch Video Solution

5. What is meant by saying that the potential

difference between two points is 1V?

o Watch Video Solution



https://dl.doubtnut.com/l/_MMp7kPl31l1A
https://dl.doubtnut.com/l/_B03gFLidiXNt

6. How much energy is given to each coulomb

of charge passing through a 6 V battery?

o Watch Video Solution

7. On what factors does the resistance of a

conductor depend?

o Watch Video Solution



https://dl.doubtnut.com/l/_GAtwkI7FPZZs
https://dl.doubtnut.com/l/_RlPb0pkIdDwa

8. Will current flow more easily through a thick
wire or a thin wire of the same material, when

connected to the same source? Why?

o Watch Video Solution

9. Let the resistance of an electrical
component remain constant while the
potential difference across the two ends of

the component decreases to half of its former


https://dl.doubtnut.com/l/_ZIKHzdjHIOTg
https://dl.doubtnut.com/l/_BjfQdgoiVOES

value. What change will occur in the current

through it?

° Watch Video Solution

10. Why are coils of electric toasters and
electric irons made of an alloy rather than a

pure metal?

° Watch Video Solution



https://dl.doubtnut.com/l/_BjfQdgoiVOES
https://dl.doubtnut.com/l/_SNziJ2g2ZAs1

11. Use the data in table 12.2 to answer the
following

a] Which among iron and mercury is better
conductor?

b] Which material is the best conductor?

o View Text Solution

12. Draw a schematic diagram of a circuit

consisting of a battery of three cells of 2 V


https://dl.doubtnut.com/l/_KiJGdEr3AuGV
https://dl.doubtnut.com/l/_f066NfmSMYtB

each, a 50, 82 and 122 and a plug key, all

connected in series.

° Watch Video Solution

13. Redraw the circuit of question 1, putting in
an ammeter to measure the current through
the resistors and a voltmeter to measure
potential difference across the 12  resistor.
What would be the readings in the ammeter

and the voltmeter?

° Watch Video Solution



https://dl.doubtnut.com/l/_f066NfmSMYtB
https://dl.doubtnut.com/l/_f4txOpxzm0LW

14. Judge the equivalent resistance when the

following are connected in parallel

—  a.1Q and 10°Q. b.1Q and 103Q and 10°Q

o Watch Video Solution

15. An electric lamp of 100€2 , a toaster of
resistance 50(2, and a water filter of resistance
500€2 are connected in parallel to a 220 V

source. What is the resistance of an electric


https://dl.doubtnut.com/l/_f4txOpxzm0LW
https://dl.doubtnut.com/l/_O5lbnAJiw1gm
https://dl.doubtnut.com/l/_H9tIgmRdQBxK

iron connected to the same source that takes
as much current as all three appliances and

what is the current through it?

o Watch Video Solution

16. What are the advantages of connecting
electrical devices in parallel with the battery

instead of connecting them in series?

o Watch Video Solution



https://dl.doubtnut.com/l/_H9tIgmRdQBxK
https://dl.doubtnut.com/l/_HLeKSiLRy0he

17. How can three resistors of resistances
202, 32 and 6€2 be connected to give a total

resistance of a] 4€2. b] 12 ?

o Watch Video Solution

18. What are [i] the highest and [ii] the lowest
total resistances which can be secured by

combinations of four coils of resistances

40, 80, 120 and 240?

° Watch Video Solution



https://dl.doubtnut.com/l/_XhmTodHQnASd
https://dl.doubtnut.com/l/_pwgtCe0atRUx

19. Why does the cord of an electric heater not

glow while the heating element does?

o Watch Video Solution

20. Compute the heat generated while
transferring 96000 coulomb of charge in one

hour through a potential difference of 50 V.

o Watch Video Solution



https://dl.doubtnut.com/l/_pwgtCe0atRUx
https://dl.doubtnut.com/l/_uPcoz5Wj2tAU
https://dl.doubtnut.com/l/_YCbJDcRBjWgH
https://dl.doubtnut.com/l/_M4qVWezHatbS

21. An electric iron of resistance 202 takes a
current of 5 A. Calculate the heat developed in

30 sec.

o Watch Video Solution

22. What determines the rate at which energy

is delivered by a current?

° Watch Video Solution



https://dl.doubtnut.com/l/_M4qVWezHatbS
https://dl.doubtnut.com/l/_SvnBTIGLF2VI

23. An electric motor takes 5 A from a 220 V
line. Determine the power of the motor and

the energy consumed in 2 h.

o Watch Video Solution

24. What does an electric circuit mean?

o Watch Video Solution

25. Define the unit of current.



https://dl.doubtnut.com/l/_EM16h0NICMtB
https://dl.doubtnut.com/l/_7lVkaiVfqn2Z
https://dl.doubtnut.com/l/_MvKRPfgELFDv

o Watch Video Solution

26. Calculate the number of electrons

constituting one coulomb of charge.

o Watch Video Solution

27. Name a device that helps to maintain a

potential difference across a conductor.

o Watch Video Solution



https://dl.doubtnut.com/l/_MvKRPfgELFDv
https://dl.doubtnut.com/l/_4JHLjHsQaEHl
https://dl.doubtnut.com/l/_kekFITm3I9rL
https://dl.doubtnut.com/l/_RvkWqjdmW1mZ

28. What is meant by saying that the potential

difference between two points is 1V?

° Watch Video Solution

29. How much energy is given to each coulomb

of charge passing through a 6 V battery?

o Watch Video Solution



https://dl.doubtnut.com/l/_RvkWqjdmW1mZ
https://dl.doubtnut.com/l/_gjGz5TrUkbbw

30. On what factors does the resistance of a

conductor depend?

° Watch Video Solution

31. Will current flow more easily through a
thick wire or a thin wire of the same material,

when connected to the same source? Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_EcsjTCJhKPzA
https://dl.doubtnut.com/l/_QSAVKpDALg0W

32. Let the resistance of an electrical
component remain constant while the
potential difference across the two ends of
the component decreases to half of its former
value. What change will occur in the current

through it?

o Watch Video Solution

33. Why are coils of electric toasters and

electric irons made of an alloy rather than a


https://dl.doubtnut.com/l/_4lUbNL6tD7As
https://dl.doubtnut.com/l/_cXv5ZBbodkwQ

pure metal?

o Watch Video Solution

34. Use the data in table 12.2 to answer the
following

a] Which among iron and mercury is better
conductor?

b] Which material is the best conductor?

o View Text Solution



https://dl.doubtnut.com/l/_cXv5ZBbodkwQ
https://dl.doubtnut.com/l/_kQcQjOisBXja

35. Draw a schematic diagram of a circuit
consisting of a battery of three cells of 2 V

each, a 5(2, 82 and 122 and a plug key, all

connected in series.

o Watch Video Solution

36. Redraw the circuit of question 1, putting in
an ammeter to measure the current through
the resistors and a voltmeter to measure

potential difference across the 12 () resistor.


https://dl.doubtnut.com/l/_lGxpywr19Yjg
https://dl.doubtnut.com/l/_3Q23Ip2U1Msn

What would be the readings in the ammeter

and the voltmeter?

° Watch Video Solution

37. Judge the equivalent resistance when the

following are connected in parallel

— a.1Q and 10°Q. b.1Q and 10°Q and 10°Q

o View Text Solution



https://dl.doubtnut.com/l/_3Q23Ip2U1Msn
https://dl.doubtnut.com/l/_4cy5Rkndr2zC

38. An electric lamp of 100€2 , a toaster of
resistance 50(2, and a water filter of resistance
500€2 are connected in parallel to a 220 V
source. What is the resistance of an electric
iron connected to the same source that takes
as much current as all three appliances and

what is the current through it?

o Watch Video Solution



https://dl.doubtnut.com/l/_dUseoaGDkmky

39. What are the advantages of connecting
electrical devices in parallel with the battery

instead of connecting them in series?

o View Text Solution

40. How can three resistors of resistances
202, 32 and 6€2 be connected to give a total

resistance of a] 4€2. b] 12 ?

o View Text Solution



https://dl.doubtnut.com/l/_DVsngQnTvgzF
https://dl.doubtnut.com/l/_LI8WPzYeQ09c
https://dl.doubtnut.com/l/_elP5n70TCYuM

41. What are [i] the highest and [ii] the lowest
total resistances which can be secured by

combinations of four coils of resistances

40, 80, 120 and 240?

° Watch Video Solution

42. Why does the cord of an electric heater

not glow while the heating element does?

o Watch Video Solution



https://dl.doubtnut.com/l/_elP5n70TCYuM
https://dl.doubtnut.com/l/_Q46hRlFj8Cf7
https://dl.doubtnut.com/l/_WnLFuT1LKd3m

43. Compute the heat generated while
transferring 96000 coulomb of charge in one

hour through a potential difference of 50 V.

o Watch Video Solution

44. An electric iron of resistance 20f2 takes a
current of 5 A. Calculate the heat developed in

30 sec.

o Watch Video Solution



https://dl.doubtnut.com/l/_WnLFuT1LKd3m
https://dl.doubtnut.com/l/_9xu5GSEF5Y4Y

45. What determines the rate at which energy

is delivered by a current?

o Watch Video Solution

46. An electric motor takes 5 A from a 220 V
line. Determine the power of the motor and

the energy consumed in 2 h.

o Watch Video Solution

Questions Section Textual Exercise


https://dl.doubtnut.com/l/_LV6WSWeikunQ
https://dl.doubtnut.com/l/_T2dcGOh4zizf

1. A piece of wire resistance R is cut into five
equal parts. These parts are then connected in
parallel. If the equivalent resistance of this
combination is R’ then the ratio R/R' is

A.1/25

B.1/5

C.5

D. 25

Answer: D



https://dl.doubtnut.com/l/_yywPf9XDkyrQ

[ ° Watch Video Solution

2. Which of the following terms does not

represent electrical power in a circuit?

A.I’R

B. IR?

C. Vi

D.V2/E

Answer: B

l a Watch Video Solution


https://dl.doubtnut.com/l/_yywPf9XDkyrQ
https://dl.doubtnut.com/l/_4ZmIsPnUFZ6V

3. An electric bulb is rated 220 V and 100 W.

When it is operated on 110 V, the power

consumed will be-

A. 100 W

B.75W

C.50 W

D.25W

Answer: D

| = |


https://dl.doubtnut.com/l/_4ZmIsPnUFZ6V
https://dl.doubtnut.com/l/_wirUNX1VcWPs

I O Watch Video Solution

4. Two conducting wires of the same material
and of equal. lengths and equal diameters are
first connected in series and then parallel in a
circuit across the same potential difference.
The ratio of heat produced in series and

parallel combinations would be -

Al:2

B.2:1

C.1:4


https://dl.doubtnut.com/l/_wirUNX1VcWPs
https://dl.doubtnut.com/l/_44wnUgqxTeef

D.4:1

Answer: C

o Watch Video Solution

5. How is a voltmeter connected in the circuit
to measure the potential difference between

two points?

o Watch Video Solution



https://dl.doubtnut.com/l/_44wnUgqxTeef
https://dl.doubtnut.com/l/_wL1JI2GLpPbT

6. A copper wire has diameter 0.5mm and
resistivity of 1.6 x 10~ 3Qm. what will be the
length of this wire to make its resistance 10€2?
How much does the resistance change if the

diameter is doubled ?

o Watch Video Solution

7. The values of current | flowing in a given
resistor for the corresponding values or

potential difference V across the resistor are


https://dl.doubtnut.com/l/_pMbaSN5HhBVN
https://dl.doubtnut.com/l/_mzzV80p2Wimn

given below

I (amperes) |[05]1.0]2.0( 3.0 | 4.0
V (volts) 1.6 | 3.4]6.7|10.2 | 13.2

Plot a graph between V and | and calculate the

resistance of that resistor.

° Watch Video Solution

8. When a 12 V battery is connected across an
unknown resistor there is a current of 2.5 mA
in the circuit. Find the value of the resistance

of the resistor.

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_mzzV80p2Wimn
https://dl.doubtnut.com/l/_g5eTQYoXj13U

9. A battery of 9V is connected in series with
resistors of 0.2, 3Q2,0.4Q2 and 129
respectively. How much current would flow

through the 1202 resistors ?

° Watch Video Solution

10. How many 1762 resistors (in parallel) are

required to carry 5Aon a 220V line ?

o Watch Video Solution



https://dl.doubtnut.com/l/_g5eTQYoXj13U
https://dl.doubtnut.com/l/_VafhXOoxuuGn
https://dl.doubtnut.com/l/_E04pZKGYtNhM

1. Show how you would connect three
resistors, each of resistance 6f) so that

combination has a resistance of

(i) 992 (ii) 42

o Watch Video Solution

12. Several electric bulbs designed to he used
on a 220 V electric supply line, are rated 10 W.

How many lamps can be connected in parallel


https://dl.doubtnut.com/l/_E04pZKGYtNhM
https://dl.doubtnut.com/l/_U0hiJYAS6WB3
https://dl.doubtnut.com/l/_EjxeU0CxJRc9

with each other across the two wires of 220V

line of the maximum allowable current is 5A ?

° Watch Video Solution

13. A hot plate of an electric oven connected to
a 220 V line has two resistance coils A and B,
each of 24() resistance, which may be used
separately, in series or in parallel. What are the

currents in the three cases?

° Watch Video Solution



https://dl.doubtnut.com/l/_EjxeU0CxJRc9
https://dl.doubtnut.com/l/_WxD8qCdEtamx
https://dl.doubtnut.com/l/_Ls0HhMUpmVot

14. Compare the power used in the 2
resistors in each of th following circuits :

(i) a 6V battery in series with 12 and 2}
resistor, and

(ii) a 4 V battery in parallel with 12Q2 and 22

resistors.

o Watch Video Solution

15. Two lamps, one rated 100 W at 220 V, and
the other 60 W at 220 V, are connected in

parallel to electric mains supply. What current


https://dl.doubtnut.com/l/_Ls0HhMUpmVot
https://dl.doubtnut.com/l/_4tyCWXtJGoGz

is drawn from the line if the supply voltage is

220 V?

° Watch Video Solution

16. Which uses more energy, a 250 W TV set in

1 hr, or a 1200 W toaster in 10 minutes?

o Watch Video Solution

17. An electric heater of resistance 82 draws 15

A from the service mains 2 hours. Calculate the


https://dl.doubtnut.com/l/_4tyCWXtJGoGz
https://dl.doubtnut.com/l/_6rMJXahVYxNk
https://dl.doubtnut.com/l/_mJi7bIjI5Bpq

rate at which heat is developed in the heater.

o Watch Video Solution

18. Explain the following.

a] Why is tungsten used almost exclusively for
filament of electric lamps?

b] Why are the conductors of electric heating
devices, such as bread-toasters and electric
irons made of an alloy rather than a pure
metal?

c] Why is the series arrangement not used for


https://dl.doubtnut.com/l/_mJi7bIjI5Bpq
https://dl.doubtnut.com/l/_BUsqeDDSuVEh

domestic circuits?

d] How does the resistance of a wire vary with
its area of cross-section?

e] Why are copper and aluminum wires usually

employed for electricity transmission?

o Watch Video Solution

19. A piece of wire resistance R is cut into five
equal parts. These parts are then connected in
parallel. If the equivalent resistance of this

combination is R’ then the ratio R/R' is


https://dl.doubtnut.com/l/_BUsqeDDSuVEh
https://dl.doubtnut.com/l/_xTP3KifxDsQt

A.1/25

B.1/5

C.5

D. 25

Answer: D

° Watch Video Solution

20. Which of the following terms does not

represent electrical power in a circuit?


https://dl.doubtnut.com/l/_xTP3KifxDsQt
https://dl.doubtnut.com/l/_iu5oBn3u2SR0

A.I’R

B. IR?

C. Vi

D.V2/R

Answer: B

o Watch Video Solution

21. An electric bulb is rated 220 V and 100 W.
When it is operated on | 10 V, the power

consumed will be-


https://dl.doubtnut.com/l/_iu5oBn3u2SR0
https://dl.doubtnut.com/l/_lsKVD5acg8PS

A. 100 W

B.75W

C.50W

D.25W

Answer: D

o Watch Video Solution

22. Two conducting wires of the same material
and of equal. lengths and equal diameters are

first connected in series and then parallel in a


https://dl.doubtnut.com/l/_lsKVD5acg8PS
https://dl.doubtnut.com/l/_41GOZbPbbMQd

circuit across the same potential difference.

The ratio of heat produced in series and

parallel combinations would be -

Al:2

B.2:1

C.1:4

D.4:1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_41GOZbPbbMQd
https://dl.doubtnut.com/l/_5xGFLKgqoMph

23. How is a voltmeter connected in the circuit
to measure the potential difference between

two points?

o Watch Video Solution

24. A copper wire has diameter 0.5mm and
resistivity of 1.6 x 10~ 3Qm. what will be the
length of this wire to make its resistance 10€2?
How much does the resistance change if the

diameter is doubled ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5xGFLKgqoMph
https://dl.doubtnut.com/l/_sKpgR7bRqjcT

25. The values of current | flowing in a given
resistor for the corresponding values or
potential difference V across the resistor are

given below

I (amperes) [05]1.0]2.0( 3.0 | 4.0
V (volts) 1.6 3467|102 13.2

Plot a graph between V and | and calculate the

resistance of that resistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_sKpgR7bRqjcT
https://dl.doubtnut.com/l/_vdqsLlwD5B9P

26. When a 12 V battery is connected across an
unknown resistor there is a current of 2.5 mA
in the circuit. Find the value of the resistance

of the resistor.

o Watch Video Solution

27. A battery of 9V is connected in series with
resistors of 0.2(),302,0.4Q2 and 120}
respectively. How much current would flow

through the 1202 resistors ?

| & I


https://dl.doubtnut.com/l/_Nc0jYGn2wC5L
https://dl.doubtnut.com/l/_iOlCkEHsqUT5

| ¥ Watch Video Solution |

28. How many 176€2 resistors (in parallel) are

required to carry 5Aon a 220V line ?

o Watch Video Solution

29. Show how you would connect three
resistors, each of resistance 6{) so that

combination has a resistance of

(i) 992 (ii) 492

o Watch Video Solution



https://dl.doubtnut.com/l/_iOlCkEHsqUT5
https://dl.doubtnut.com/l/_e5V1awyVA2HD
https://dl.doubtnut.com/l/_RNeNJhV1kePU

30. Several electric bulbs designed to he used
on a 220 V electric supply line, are rated 10 W.
How many lamps can be connected in parallel
with each other across the two wires of 220V

line of the maximum allowable current is 5A ?

o Watch Video Solution

31. A hot plate of an electric oven connected to

a 220 V line has two resistance coils A and B,


https://dl.doubtnut.com/l/_RNeNJhV1kePU
https://dl.doubtnut.com/l/_tV6CivZHHCX0
https://dl.doubtnut.com/l/_GSiVBw5TRAb6

each of 24() resistance, which may be used
separately, in series or in parallel. What are the

currents in the three cases?

° Watch Video Solution

32. Compare the power used in the 22 resistor
in each of the following circuits:

i] a 6 V battery in series with 1€} and 21}
resistors, and

ii] a 4 V battery in parallel with 12€2 and 212

resistors.

| |


https://dl.doubtnut.com/l/_GSiVBw5TRAb6
https://dl.doubtnut.com/l/_aP3RWdbZRuPq

& Wwatch Video Solution I

33. Two lamps, one rated 100 W at 220 V, and
the other 60 W at 220 V, are connected in
parallel to electric mains supply. What current
is drawn from the line if the supply voltage is

220 V?

O Watch Video Solution

34. Which uses more energy, a 250 W TV set in

1 hr, or a 1200 W toaster in 10 minutes?


https://dl.doubtnut.com/l/_aP3RWdbZRuPq
https://dl.doubtnut.com/l/_yzkUuQmLfNGt
https://dl.doubtnut.com/l/_qnisyzBfIR4n

° Watch Video Solution

35. An electric heater of resistance 8() draws
15 A from the service mains 2 hours. Calculate
the rate at which heat is developed in the

heater.

o Watch Video Solution

36. Explain the following.

a] Why is tungsten used almost exclusively for


https://dl.doubtnut.com/l/_qnisyzBfIR4n
https://dl.doubtnut.com/l/_i5Qhe8jZ5D94
https://dl.doubtnut.com/l/_rMXstVhvLxEv

filament of electric lamps?

b] Why are the conductors of electric heating
devices, such as bread-toasters and electric
irons made of an alloy rather than a pure
metal?

c] Why is the series arrangement not used for
domestic circuits?

d] How does the resistance of a wire vary with
its area of cross-section?

e] Why are copper and aluminum wires usually

employed for electricity transmission?

o Watch Video Solution



https://dl.doubtnut.com/l/_rMXstVhvLxEv

Zen Additional Questions Section Multiple

Choice Questions

1. A cell, a resistor, a key and ammeter are
arranged as shown in the circuit diagrams. The

current recorded in the ammeter will be

i

A. maximum in [i]

B. maximum in [ii]

C. maximum in [iii]


https://dl.doubtnut.com/l/_cJC0yEwgKZUg

D.the same in all the cases

Answer: B

° Watch Video Solution

2. Electrical resistivity of a given metallic wire

depends upon

A. its length

B. its thickness

C. its shaps


https://dl.doubtnut.com/l/_cJC0yEwgKZUg
https://dl.doubtnut.com/l/_0b2j0RIDU6Nf

D. nature of the material

Answer: D

° Watch Video Solution

3. What is the maximum resistance which can

be made using five resistors each of 1 /5Q?

A.1/5Q
B. 102

C. 52


https://dl.doubtnut.com/l/_0b2j0RIDU6Nf
https://dl.doubtnut.com/l/_2rvSsIm4jI3M

D. 1Q2

Answer: D

o Watch Video Solution

4. \What is the minimum resistance which can

be made using five resistors each of 1 /5Q?

A.1/50
B.1/25(

C.1/109


https://dl.doubtnut.com/l/_2rvSsIm4jI3M
https://dl.doubtnut.com/l/_jB2T1LC5d8wY

D. 25()

Answer: B

° Watch Video Solution

5. Which of the following represents voltage?

A. Work done/Current x Time

B. Work done/Charge

C.Work done x Time/Current

D. Work done Charge Time


https://dl.doubtnut.com/l/_jB2T1LC5d8wY
https://dl.doubtnut.com/l/_f715dU0iATn3

Answer: A

o Watch Video Solution

6. Unit of electric power may also be expressed

as

A. volt ampere

B. kilowatt hour

C. watt second

D. joule second


https://dl.doubtnut.com/l/_f715dU0iATn3
https://dl.doubtnut.com/l/_lB2HAjrqsY7K

Answer: A

o Watch Video Solution

7. Which of the following statements does not

represent Ohm's law?

A. current/potential difference = constant

B. potential difference/current = constant

C.potential difference = current X

resistance


https://dl.doubtnut.com/l/_lB2HAjrqsY7K
https://dl.doubtnut.com/l/_H3O5xkl8NjJ4

D.current = resistance X  potential

difference.

Answer: D

o Watch Video Solution

8. Two resistances of 100 Q and zero ohm are
connected in parallel. The overall resistance

will be

A.100 Q


https://dl.doubtnut.com/l/_H3O5xkl8NjJ4
https://dl.doubtnut.com/l/_N0HhYET2VMIa

B.50 Q

C.25Q

D.zero ohm

Answer: A

o Watch Video Solution

9. Three resistors 2 Q, 3Q and 4Q are
connected so that the equivalent resistance is

9Q). The resistors are connected


https://dl.doubtnut.com/l/_N0HhYET2VMIa
https://dl.doubtnut.com/l/_CACJjZbR88JJ

A. all in series

B. all in parallel

C.2Q and 3Q in parallel and the

combination in series with 4Q

D.2Q and 3Q in series and the

combination in parallel to 4Q

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CACJjZbR88JJ

10. When a current 'I' flows through a
resistance 'R' for time 't' the electrical energy
spent is given by

A. IRt

B.I°Rt

C.IR*t

D.I’R/t

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8ct3Qza4KXWy

1. When a fuse is rated 8 A, it means

A. it will not work if current is less than 8 A

B. it has a resistance of 8Q

C. it will work only if current is 8 A

D. it will melt if current exceeds 8 A

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MoEt7SHk9bpd

12. The work done in moving a unit positive

charge across two points in an electric circuit

is a measure of

A. Current

B. potential difference

C.resistance

D. power

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uhKjBJyAY7nh

13. The potential at a point is 20 V. The work

done to bring a charge of 0.5 C from infinity to

this point will be

A. 20

B.10 ]

C.5)

D.40)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vrome5gJRhBB

14. The free electrons of a metal

A. do not collide with each other

B. are free to escape through the surface

C. are free to fall into the nuclei

D. are free to move anywhere in the metal

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6Eel3KYCTkkB

15. The path of a free electron in a metal is

A. Parabolic

B. Circular

C. a straight line

D. zig zag

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eiahKHzZxSZk

16. When there is an electric current passing

through a wire, the particles moving are

A. Electrons

B. Protons

C. Atoms

D. lons

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PfRbL8d3IylI
https://dl.doubtnut.com/l/_a8xvNKSMIgfS

17. A positive charge released from rest

A. moves towards the regions of lower

potential

B. moves towards the regions of higher

potential

C. moves towards the regions of equal

potential

D. does not move

Answer: A

I ° Watch Video Solution


https://dl.doubtnut.com/l/_a8xvNKSMIgfS

18. Three equal resistances when combined in

series are equivalent to 90Q. Their equivalent

resistance when combined in parallel will be

A.270 Q

B.30 Q

C.810 Q

D.10 Q

Answer: D

| = |


https://dl.doubtnut.com/l/_a8xvNKSMIgfS
https://dl.doubtnut.com/l/_ab4y3a3updxe

I &9 Watch Video Solution I

19. For which of the following substances,

resistance decreases with increase In

temperature?

A. Copper

B. Platinum

C. Mercury

D. Carbon

Answer: D



https://dl.doubtnut.com/l/_ab4y3a3updxe
https://dl.doubtnut.com/l/_XrDLiH0mBr2X

o Watch Video Solution

20. Two electric bulbs have resistances in the

ratio 1 : 2. If they are joined in series, the

energy consumed in them are in the ratio

A.l1:2

B.2:1

C.4:1

D.1:1

Answer: B


https://dl.doubtnut.com/l/_XrDLiH0mBr2X
https://dl.doubtnut.com/l/_a86gW0cM9pa2

o Watch Video Solution

21. Among the following statements.

1. A discharge lamp uses a discharge tube
which is filled with a gas at a very low
pressure.

2. Always white light is emitted independent of

gas taken in the lamp.

A.Only 1is true

B.Only 2 is true

C.Both 1and 2 are true


https://dl.doubtnut.com/l/_a86gW0cM9pa2
https://dl.doubtnut.com/l/_mlCbLahFdyOp

D. Both 1 and 2 are false.

Answer: A

° Watch Video Solution

22. Among identical spheres A and B having

chargesas -5and -16 C

A. —16C is at higher potential

B. Both are at equal potential

C. It cannot be said


https://dl.doubtnut.com/l/_mlCbLahFdyOp
https://dl.doubtnut.com/l/_l0sMtpGGEpV1

D. —5C is at higher potential

Answer: A

° Watch Video Solution

23. Keeping the potential difference constant,

the resistance of a circuit is doubled. The

current will become

A. Double

B. Half


https://dl.doubtnut.com/l/_l0sMtpGGEpV1
https://dl.doubtnut.com/l/_hrQmuHRiK7e8

C. One-fourth

D. Four times

Answer: B

o Watch Video Solution

24.The resistance of a conductor is 270 If it is
cut into three equal parts and connected in

parallel, then its total resistance is

A. 6Q


https://dl.doubtnut.com/l/_hrQmuHRiK7e8
https://dl.doubtnut.com/l/_9vjOPNBozd91

C. 9

D. 27(2

Answer: B

o Watch Video Solution

25. A piece of metallic wire of resistance R is
cut into 3 equal parts. These parts are then

connected in parallel. If the total resistance of


https://dl.doubtnut.com/l/_9vjOPNBozd91
https://dl.doubtnut.com/l/_K8ShOQB2WX9H

this combination is R', then the value of R : R’

IS

A1:3

B.9:1

C.1:9

D.3:1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_K8ShOQB2WX9H

26. An electric kettle for use on a 230 V supply
is rated at 3000 W. For safe working, the cable
connected to it should be able to carry at
least:

A 2A

B. 5A

C. 10A

D. 15A

Answer: D

‘ o Wiak lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_4OVVOh8uzrAF
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27. At a given time, a house is supplied with
100 A at 220 V. How many 75 W, 220 V light
bulbs could be switched on in the house at
the same time [if they are all connected in
parallel]?

A. 93

B. 193

C. 293

D. 393


https://dl.doubtnut.com/l/_4OVVOh8uzrAF
https://dl.doubtnut.com/l/_ZpjExoP8ahB9

Answer: C

o Watch Video Solution

28. If the potential difference between the
ends of a fixed resistor is halved, the electric

power will become:

A. Double

B. Half

C. Four times

D. One-fourth


https://dl.doubtnut.com/l/_ZpjExoP8ahB9
https://dl.doubtnut.com/l/_Tb3SgZIPGQlh

Answer: D

o Watch Video Solution

29. The heat produced in a wire of resistance

'X' when a current 'Y' flows through it in time

'Z' is given by

AX’xY xZ

B.X X Z xY?

CY X ZxX

D.Y x X x X


https://dl.doubtnut.com/l/_Tb3SgZIPGQlh
https://dl.doubtnut.com/l/_tgljBLUQME3z

Answer: B

o Watch Video Solution

30. If the current flowing through a fixed

resistor is halved, the heat produced in it will

become:

A. Double

B. One-half

C. One-fourth

D. Four times


https://dl.doubtnut.com/l/_tgljBLUQME3z
https://dl.doubtnut.com/l/_fntlasBHOAzd

Answer: C

o Watch Video Solution

31. A cell, a resistor, a key and ammeter are
arranged as shown in the circuit diagrams. The

current recorded in the ammeter will be

Tt Joom

A. maximum in [i]

B. maximum in [ii]


https://dl.doubtnut.com/l/_fntlasBHOAzd
https://dl.doubtnut.com/l/_hlWMX6duuAVz

C. maximum in [iii]

D. the same in all the cases

Answer: B

o View Text Solution

32. Electrical resistivity of a given metallic wire

depends upon

A. its length

B. its thickness


https://dl.doubtnut.com/l/_hlWMX6duuAVz
https://dl.doubtnut.com/l/_TRoZsDyVsgV8

C. its shaps

D. nature of the material

Answer: D

o Watch Video Solution

33. What is the maximum resistance which can

be made using five resistors each of 1 /5Q?

A.1/5Q

B. 10Q2


https://dl.doubtnut.com/l/_TRoZsDyVsgV8
https://dl.doubtnut.com/l/_4fGHqYQRHL6U

C. 52

D. 12

Answer: D

° Watch Video Solution

34. What is the minimum resistance which can

be made using five resistors each of 1 /50?

A.1/5Q

B.1/250)


https://dl.doubtnut.com/l/_4fGHqYQRHL6U
https://dl.doubtnut.com/l/_BblRtNgjnOBI

C.1,/109

D. 2512

Answer: B

o Watch Video Solution

35. Which of the following represents voltage?

A. Work done/Current x Time

B. Work done/Charge

C.Work done x Time/Current


https://dl.doubtnut.com/l/_BblRtNgjnOBI
https://dl.doubtnut.com/l/_4H3ox7GihicJ

D. Work done Charge Time

Answer: A

° Watch Video Solution

36. Unit of electric power may also be

expressed as

A. volt ampere

B. kilowatt hour

C. watt second


https://dl.doubtnut.com/l/_4H3ox7GihicJ
https://dl.doubtnut.com/l/_swuI30MRike5

D. joule second

Answer: A

° Watch Video Solution

37. Which of the following statements does

not represent Ohm's law?

A. current/potential difference = constant

B. potential difference/current = constant


https://dl.doubtnut.com/l/_swuI30MRike5
https://dl.doubtnut.com/l/_qqTZrNzJgtRp

C.potential difference = -current X

resistance

D.current = resistance X potential

difference.

Answer: D

o Watch Video Solution

38. Two resistances of 100 Q and zero ohm are
connected in parallel. The overall resistance

will be


https://dl.doubtnut.com/l/_qqTZrNzJgtRp
https://dl.doubtnut.com/l/_n3eBq99TkIB4

A. 100 W

B.50 W

C.25W

D. zero ohm

Answer: A

o Watch Video Solution

39. Three resistors 2 Q, 3Q and 4Q are
connected so that the equivalent resistance is

9Q. The resistors are connected


https://dl.doubtnut.com/l/_n3eBq99TkIB4
https://dl.doubtnut.com/l/_iZdaGfWX8iI4

A. all in series

B. all in parallel

C.2 W and 3 W in parallel and the

combination in series with 4 W

D.2 Wand 3 W in series and the

combination in parallel to 4W

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iZdaGfWX8iI4

40. When a current 'I' flows through a
resistance 'R' for time 't' the electrical energy
spent is given by

A. IRt

B.I°Rt

C.IR%*t

D.I°R/t

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LOamHMVoHXNm

41. When a fuse is rated 8 A, it means

A. it will not work if current is less than 8 A

B. it has a resistance of 8 W

C. it will work only if current is 8 A

D. it will melt if current exceeds 8 A

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IJpsqhgr5426

42. The work done in moving a unit positive

charge across two points in an electric circuit

iIs a measure of

A. Current

B. potential difference

C.resistance

D. power

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_m67mTqEhA5co

43. The potential at a point is 20 V. The work

done to bring a charge of 0.5 C from infinity to

this point will be

A.20)

B.10 ]

C.5)

D.40)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wzghKKRysqG0

44.The free electrons of a metal

A. do not collide with each other

B. are free to escape through the surface

C. are free to fall into the nuclei

D. are free to move anywhere in the metal

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Xu5Ml5UmViC6

45.The path of a free electron in a metal is

A. Parabolic

B. Circular

C. a straight line

D. zig zag

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DbNg9708SKEU

46. When there is an electric current passing

through a wire, the particles moving are

A. Electrons

B. Protons

C. Atoms

D. lons

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_D0GpUPiWFWv4
https://dl.doubtnut.com/l/_NofLVapBE0ya

47. A positive charge released from rest

A. moves towards the regions of lower

potential

B. moves towards the regions of higher

potential

C. moves towards the regions of equal

potential

D. does not move

Answer: A

I ° Watch Video Solution


https://dl.doubtnut.com/l/_NofLVapBE0ya

48. Three equal resistances when combined in

series are equivalent to 90Q. Their equivalent

resistance when combined in parallel will be

A 270 W

B.30W

C.810 W

D.10 W

Answer: D

| = |


https://dl.doubtnut.com/l/_NofLVapBE0ya
https://dl.doubtnut.com/l/_u4gUcQyy7rGM

I &9 Watch Video Solution I

49, For which of the following substances,

resistance decreases with increase In

temperature?

A. Copper

B. Platinum

C. Mercury

D. Carbon

Answer: D



https://dl.doubtnut.com/l/_u4gUcQyy7rGM
https://dl.doubtnut.com/l/_Eamztbqjsb5c

o Watch Video Solution

50. Two electric bulbs have resistances in the

ratio 1 : 2. If they are joined in series, the

energy consumed in them are in the ratio

A.l:2

B.2:1

C.4:1

D.1:1

Answer: B


https://dl.doubtnut.com/l/_Eamztbqjsb5c
https://dl.doubtnut.com/l/_m4LCsSa8juMX

o Watch Video Solution

51. Among the following statements.

1. A discharge lamp uses a discharge tube
which is filled with a gas at a very low
pressure.

2. Always white light is emitted independent of

gas taken in the lamp.

A.Only 1is true

B.Only 2 is true

C.Both 1and 2 are true


https://dl.doubtnut.com/l/_m4LCsSa8juMX
https://dl.doubtnut.com/l/_TGzxEGaTPKdW

D. Both 1 and 2 are false.

Answer: A

° Watch Video Solution

52. Among identical spheres A and B having

chargesas -5and -16 C

A. —16C is at higher potential

B. Both are at equal potential

C. It cannot be said


https://dl.doubtnut.com/l/_TGzxEGaTPKdW
https://dl.doubtnut.com/l/_rTBXHOMCrVld

D. —5C is at higher potential

Answer: A

° Watch Video Solution

53. Keeping the potential difference constant,

the resistance of a circuit is doubled. The

current will become

A. Double

B. Half


https://dl.doubtnut.com/l/_rTBXHOMCrVld
https://dl.doubtnut.com/l/_xKIIxozrArwt

C. One-fourth

D. Four times

Answer: B

o Watch Video Solution

54. The resistance of a conductor is 27€. If it is
cut into three equal parts and connected in

parallel, then its total resistance is

A.6


https://dl.doubtnut.com/l/_xKIIxozrArwt
https://dl.doubtnut.com/l/_ely3uyFveaXH

C. 9

D. 27(2

Answer: B

o Watch Video Solution

55. A piece of metallic wire of resistance R is
cut into 3 equal parts. These parts are then

connected in parallel. If the total resistance of


https://dl.doubtnut.com/l/_ely3uyFveaXH
https://dl.doubtnut.com/l/_q9nCfacKKD4e

this combination is R', then the value of R : R’

IS

A1:3

B.9:1

C.1:9

D.3:1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_q9nCfacKKD4e

56. An electric kettle for use on a 230 V supply
is rated at 3000 W. For safe working, the cable
connected to it should be able to carry at
least:

A 2A

B. 5A

C. 10A

D. 15A

Answer: D

I o Wiak hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_KammjXY0abfI
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57. At a given time, a house is supplied with
100 A at 220 V. How many 75 W, 220 V light
bulbs could be switched on in the house at
the same time [if they are all connected in
parallel]?

A. 93

B. 193

C. 293

D. 393


https://dl.doubtnut.com/l/_KammjXY0abfI
https://dl.doubtnut.com/l/_x5nUyQbRdYeE

Answer: C

o Watch Video Solution

58. If the potential difference between the
ends of a fixed resistor is halved, the electric

power will become:

A. Double

B. Half

C. Four times

D. One-fourth


https://dl.doubtnut.com/l/_x5nUyQbRdYeE
https://dl.doubtnut.com/l/_q1E8S2jTWba6

Answer: D

o Watch Video Solution

59. The heat produced in a wire of resistance

'X' when a current 'Y' flows through it in time

'Z' is given by

AX’xY xZ

B.X X Z xY?

CY X ZxX

D.Y x X x X


https://dl.doubtnut.com/l/_q1E8S2jTWba6
https://dl.doubtnut.com/l/_c4Q6h0YhAXuw

Answer: B

o Watch Video Solution

60. If the current flowing through a fixed

resistor is halved, the heat produced in it will

become:

A. Double

B. One-half

C. One-fourth

D. Four times


https://dl.doubtnut.com/l/_c4Q6h0YhAXuw
https://dl.doubtnut.com/l/_7YDESnkYodVs

Answer: C

o Watch Video Solution

Zen Additional Questions Section Very Short

Answer Type Questions

1. What is meant by saying that the electric

potential at a point is Ivolt?

° Watch Video Solution



https://dl.doubtnut.com/l/_7YDESnkYodVs
https://dl.doubtnut.com/l/_z6v6V4xXzE4n

2. How much work is done when one coulomb
charge moves against a potential difference is

| volt?

o Watch Video Solution

3. What is the Sl unit of electric current?

o Watch Video Solution



https://dl.doubtnut.com/l/_EENAttN54vKp
https://dl.doubtnut.com/l/_D1tEBuXHuTUZ

4. Compare how an ammeter and a voltmeter

are connected in a circuit.

° Watch Video Solution

5. What is the current in a circuit if the charge

passing through each point is 20 Cin 40 s?

o Watch Video Solution



https://dl.doubtnut.com/l/_p88et7nkFXbS
https://dl.doubtnut.com/l/_9wxppg3XLKCw

6. Name the unit of electrical resistance and

give its symbol.

° Watch Video Solution

7. A resistance of 20 ohms has a current of 2
amperes flowing in it. What potential

difference is there between its ends?

° Watch Video Solution



https://dl.doubtnut.com/l/_wQMPcjIzonPB
https://dl.doubtnut.com/l/_pQFHvlBnYY9J

8. A current of 5 amperes flows through a wire
whose ends are at a potential difference of 3

volts. Calculate the resistance of wire.

o Watch Video Solution

9. Give the law of combination of resistances

in series.

° Watch Video Solution



https://dl.doubtnut.com/l/_G56iTUknK2AJ
https://dl.doubtnut.com/l/_JJfpWkWZxhF8

10. State the law of combination of resistances

in parallel.

° Watch Video Solution

11. Two resistances x and y are connected

i] in parallel and,

ii] in series. In which case the resultant
resistance will be the less than either of the

individual resistance?

° Watch Video Solution



https://dl.doubtnut.com/l/_Wis9KbNMVZqO
https://dl.doubtnut.com/l/_DbrPs2t1tBsP

12. What is the Sl unit of [i] electric energy, and

[ii] electric power?

o Watch Video Solution

13. Explain why, filament type electric bulbs are

not power efficient.

o Watch Video Solution



https://dl.doubtnut.com/l/_DbrPs2t1tBsP
https://dl.doubtnut.com/l/_DAthPiVrULUN
https://dl.doubtnut.com/l/_HcwzaRRjpRWP

14. Resistance of an incandescent filament of a
bulb is comparatively much more than that

when it is at room temperature. Why?

o Watch Video Solution

15. What happens to the other bulbs in series

circuit, if one bulb blows off?

° Watch Video Solution



https://dl.doubtnut.com/l/_wDuNsaatVElp
https://dl.doubtnut.com/l/_ff51ziBOF8h8

16. Calculate the number of electrons

constituting one coulomb of charge.

o Watch Video Solution

17. State the relationship between 1 ampere

and 1 coulomb.

o Watch Video Solution



https://dl.doubtnut.com/l/_0uJr7g0stlYz
https://dl.doubtnut.com/l/_6tgDzSjfVLDz

18. State the relationship between 1 volt and 1

joule.

o Watch Video Solution

19. Would electrons move from higher

potentials to lower potentials or vice-versa?

o Watch Video Solution



https://dl.doubtnut.com/l/_QtZAN2LaylY8
https://dl.doubtnut.com/l/_ROnjILaVM3Ev

20. Why is a voltmeter connected in parallel

across a circuit element?

° Watch Video Solution

21. What is the Sl unit of potential difference ?
Name the device used to measure the

potential difference.

° Watch Video Solution



https://dl.doubtnut.com/l/_mu4dLbVWgxS0
https://dl.doubtnut.com/l/_aqxhGZjJljCP

22. What is meant by saying that the electric

potential at a point is Ivolt?

° Watch Video Solution

23. How much work is done when one coulomb
charge moves against a potential difference is

| volt?

° Watch Video Solution



https://dl.doubtnut.com/l/_spoMTnHpW4bV
https://dl.doubtnut.com/l/_fLS1XLw32ejo

24. What is the Sl unit of electric current?

o Watch Video Solution

25. Compare how an ammeter and a voltmeter

are connected in a circuit.

° Watch Video Solution

26. What is the current in a circuit if the

charge passing through each point is 20 C in


https://dl.doubtnut.com/l/_iTRM1hPzP2RK
https://dl.doubtnut.com/l/_5WPZEBu4qITj
https://dl.doubtnut.com/l/_7jhRPL33CTFY

40 5s?

o Watch Video Solution

27. Name the unit of electrical resistance and

give its symbol.

° Watch Video Solution

28. A resistance of 20 ohms has a current of 2
amperes flowing in it. What potential

difference is there between its ends?


https://dl.doubtnut.com/l/_7jhRPL33CTFY
https://dl.doubtnut.com/l/_wwo56yJaXSds
https://dl.doubtnut.com/l/_ZKjj88Ub4QYT

° Watch Video Solution

29. A current of 5 amperes flows through a
wire whose ends are at a potential difference

of 3 volts. Calculate the resistance of wire.

° Watch Video Solution

30. Give the law of combination of resistances

in series.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZKjj88Ub4QYT
https://dl.doubtnut.com/l/_CCtmiaqviaaK
https://dl.doubtnut.com/l/_uoFUa34bDzAc

31. State the law of combination of resistances

in parallel.

° Watch Video Solution

32. Two resistances x and y are connected

i] in parallel and,

ii] in series. In which case the resultant
resistance will be the less than either of the

individual resistance?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_uoFUa34bDzAc
https://dl.doubtnut.com/l/_JHoGPu439I0h
https://dl.doubtnut.com/l/_8yCwahbyqxmQ

33. What is the SI unit of [i] electric energy,

and [ii] electric power?

o Watch Video Solution

34. Explain why, filament type electric bulbs are

not power efficient.

° Watch Video Solution



https://dl.doubtnut.com/l/_8yCwahbyqxmQ
https://dl.doubtnut.com/l/_FFS2o4EcH4VO
https://dl.doubtnut.com/l/_vgPVZa1GKBC6

35. Resistance of an incandescent filament of a
bulb is comparatively much more than that

when it is at room temperature. Why?

o Watch Video Solution

36. What happens to the other bulbs in series

circuit, if one bulb blows off?

° Watch Video Solution



https://dl.doubtnut.com/l/_LhA1emrlG2Su
https://dl.doubtnut.com/l/_HKMOzFgDloXe

37. Calculate the number of electrons

constituting one coulomb of charge.

o Watch Video Solution

38. State the relationship between 1 ampere

and 1 coulomb.

o Watch Video Solution



https://dl.doubtnut.com/l/_GJpHsD55BXuq
https://dl.doubtnut.com/l/_0TOQcRk1ge4h

39. State the relationship between 1 volt and 1

joule.

o Watch Video Solution

40. Would electrons move from higher

potentials to lower potentials or vice-versa?

o Watch Video Solution



https://dl.doubtnut.com/l/_jO5umKfHIioD
https://dl.doubtnut.com/l/_Llw0mM55Twms

41. Why is a voltmeter connected in parallel

across a circuit element?

° Watch Video Solution

42. What is the Sl unit of potential difference ?
Name the device used to measure the

potential difference.

° Watch Video Solution



https://dl.doubtnut.com/l/_SE0OBpfQ04YD
https://dl.doubtnut.com/l/_lp3qhTIzeMC5

Zen Additional Questions Section Short Answer

Type 1 Questions

1. What is nichrome? State its one use.

o Watch Video Solution

2. Which has more resistance:

al] A long piece of nichrome wire or a short
one?

b] A thick piece of nichrome wire or a thin

piece?



https://dl.doubtnut.com/l/_MJOUygkFxjyW
https://dl.doubtnut.com/l/_gSGyTgRHzMoe

o Watch Video Solution

3. What is the meaning of the symbol kWh?

Which quantity does it represent?

o Watch Video Solution

4. Calculate the amount of charge flowing in a

wire if it draws a current of 2 A in 10 minutes.

o Watch Video Solution



https://dl.doubtnut.com/l/_gSGyTgRHzMoe
https://dl.doubtnut.com/l/_GS0y6Pr3fRI7
https://dl.doubtnut.com/l/_7lW4kMOZG1ov
https://dl.doubtnut.com/l/_NZ14kdLcojvb

5. What happens to resistance of a conductor

if area of cross section is doubled?

o Watch Video Solution

6. Why closed path is required for the flow of

current?

o Watch Video Solution



https://dl.doubtnut.com/l/_NZ14kdLcojvb
https://dl.doubtnut.com/l/_OmttzMLMZCun

7.Draw the V-l graph for ohmic and non-ohmic

conductors.

o Watch Video Solution

8. A wire of resistivity p is pulled to double its

length. What will be its new resistivity?

o Watch Video Solution



https://dl.doubtnut.com/l/_6nuqGPFkis8b
https://dl.doubtnut.com/l/_Np47HfsVYSIF

9. List in a tabular form two differences

between a voltmeter and an ammeter.

° Watch Video Solution

10. A given length of a wire is doubled on itself
and this process is repeated once again. By
what factor does the resistance of the wire

change?

o Watch Video Solution



https://dl.doubtnut.com/l/_ig6qBRZuaOyB
https://dl.doubtnut.com/l/_UhVIw8wz1IKL
https://dl.doubtnut.com/l/_qY9zuk8vVdAD

11. What is the need of using combination of
resistance in electrical circuits? Define

equivalent resistance.

o Watch Video Solution

12. What is heating effect of current? Mention

any two of its applications.

° Watch Video Solution



https://dl.doubtnut.com/l/_qY9zuk8vVdAD
https://dl.doubtnut.com/l/_Tzv5IxT9SYKm

13. Define the term electric power. Write an

expression for it.

° Watch Video Solution

14. Draw the diagram of an electric circuit in
which the resistors R;, Ry and R3 are
connected in parallel including an ammeter
and a voltmeter and mark the direction of the

current.

° Watch Video Solution



https://dl.doubtnut.com/l/_7oKxmpEhbW3v
https://dl.doubtnut.com/l/_KI7fENMPnAb6

15. An electric refrigerator rated 400 W is used
for 8 hours a day. An electric iron box rated
750 W is used for 2 hours a day. Calculate the
cost of using these appliances for 30 days, if

the cost of | kWh is Rs 3/-.

o Watch Video Solution

16. A bulb is marked 220 V and 40 W. Calculate
the current flowing through the bulb and its

resistance.


https://dl.doubtnut.com/l/_KI7fENMPnAb6
https://dl.doubtnut.com/l/_lcdhdpYhqpe0
https://dl.doubtnut.com/l/_0jFUN4CVe0EN

° Watch Video Solution

17. What are the advantages of connecting
electrical devices in parallel with the battery

instead of connecting them in series?

° Watch Video Solution

18. According to Joule's iaw of heating,
mention the factors on which heat produccd

in a resistor depends.


https://dl.doubtnut.com/l/_0jFUN4CVe0EN
https://dl.doubtnut.com/l/_l3gA9whyE0kH
https://dl.doubtnut.com/l/_IsFtHQu3N2ke

According to this law write the formula used

talculate the heat produced.

° Watch Video Solution

19. The resistivity of manganese wire of length
1 m is 1.84x 107 °Qm at 20°C. If the
diameter of the wire is 3 X 10_4m, what will
be the resistance of the wire at that

temperature?

° Watch Video Solution



https://dl.doubtnut.com/l/_IsFtHQu3N2ke
https://dl.doubtnut.com/l/_ExMO2skBP3ei
https://dl.doubtnut.com/l/_hp7uCMRjY9zi

20. Observe the given circuit:

I 40

S0l

Calculate the total resistance in the circuit and

the total current flowing in the circuit.

o Watch Video Solution

21. What is nichrome? State its one use.

o Watch Video Solution



https://dl.doubtnut.com/l/_hp7uCMRjY9zi
https://dl.doubtnut.com/l/_PVXC4VnxLkDM

22. Which has more resistance:

al A long piece of nichrome wire or a short
one?

b] A thick piece of nichrome wire or a thin

piece?

° Watch Video Solution

23. What is the meaning of the symbol kWh?

Which quantity does it represent?

| s |


https://dl.doubtnut.com/l/_PVXC4VnxLkDM
https://dl.doubtnut.com/l/_oobZdcZW7Kld
https://dl.doubtnut.com/l/_FL1colqp8MS9

| @ Watch Video Solution ]

24. Calculate the amount of charge flowing in

a wire if it draws a current of 2 A in 10 minutes.

o Watch Video Solution

25. What happens to resistance of a conductor

if area of cross section is doubled?

o Watch Video Solution



https://dl.doubtnut.com/l/_FL1colqp8MS9
https://dl.doubtnut.com/l/_jQtWeDm1gOiR
https://dl.doubtnut.com/l/_ARVrKwaLG5p2
https://dl.doubtnut.com/l/_fcxxgDgju1go

26. Why closed path is required for the flow of

current?

o Watch Video Solution

27. Draw the V-l graph for ohmic and non-

ohmic conductors.

° Watch Video Solution

28. A wire of resistivity p is pulled to double its

length. What will be its new resistivity?


https://dl.doubtnut.com/l/_fcxxgDgju1go
https://dl.doubtnut.com/l/_g5S5LzVRwvGe
https://dl.doubtnut.com/l/_oE3u4cs7xgby

° Watch Video Solution

29. List in a tabular form two differences

between a voltmeter and an ammeter.

o Watch Video Solution

30. A given length of a wire is doubled on itself
and this process is repeated once again. By
what factor does the resistance of the wire

change?

| e |


https://dl.doubtnut.com/l/_oE3u4cs7xgby
https://dl.doubtnut.com/l/_tkudH7BYQjXk
https://dl.doubtnut.com/l/_BzEbrJaymvGA

& Wwatch Video Solution I

31. What is the need of using combination of
resistance in electrical circuits? Define

equivalent resistance.

° Watch Video Solution

32. What is heating effect of current? Mention

any two of its applications.

o Watch Video Solution



https://dl.doubtnut.com/l/_BzEbrJaymvGA
https://dl.doubtnut.com/l/_weHhU9xy1yik
https://dl.doubtnut.com/l/_VRPbuMz3uHwq

33. Define the term electric power. Write an

expression for it.

° Watch Video Solution

34. Draw the diagram of an electric circuit in
which the resistors R;, Ry and R3 are
connected in parallel including an ammeter
and a voltmeter and mark the direction of the

current.

° Watch Video Solution



https://dl.doubtnut.com/l/_UbcOeC7ikK8Q
https://dl.doubtnut.com/l/_S5EJGeJqYQKE

35. An electric refrigerator rated 400 W is used
for 8 hours a day. An electric iron box rated
750 W is used for 2 hours a day. Calculate the
cost of using these appliances for 30 days, if

the cost of | kWh is Rs 3/-.

o Watch Video Solution

36. A bulb is marked 220 V and 40 W. Calculate
the current flowing through the bulb and its

resistance.


https://dl.doubtnut.com/l/_S5EJGeJqYQKE
https://dl.doubtnut.com/l/_AMiAeBLmjbKM
https://dl.doubtnut.com/l/_Xvb8dSvyKWEL

° Watch Video Solution

37. What are the advantages of connecting
electrical devices in parallel with the battery

instead of connecting them in series?

° Watch Video Solution

38. According to Joule's iaw of heating,
mention the factors on which heat produccd

in a resistor depends.


https://dl.doubtnut.com/l/_Xvb8dSvyKWEL
https://dl.doubtnut.com/l/_G3ZNXNXaxDfk
https://dl.doubtnut.com/l/_Qcah3AgBotcJ

According to this law write the formula used

talculate the heat produced.

° Watch Video Solution

39. The resistivity of manganese wire of length
1 m is 1.84 x 10 °Qm at 20°C. If the
diameter of the wire is 3 X 10_4m, what will
be the resistance of the wire at that

temperature?

° Watch Video Solution



https://dl.doubtnut.com/l/_Qcah3AgBotcJ
https://dl.doubtnut.com/l/_vyTvfsmQdh6a
https://dl.doubtnut.com/l/_XG4H19616bNk

40. Observe the given circuit:

e

I 40

S0l

Calculate the total resistance in the circuit and

the total current flowing in the circuit.

o Watch Video Solution

Zen Additional Questions Section Short Answer

Type 2 Questions



https://dl.doubtnut.com/l/_XG4H19616bNk
https://dl.doubtnut.com/l/_POdlwkw4vwHp

1. Three 212 resistors, A, B and C, are connected
as shown in figure. Each of them dissipates
energy and can withstand a maximum power
of 18 W without melting. Find the maximum

current that can flow through the three

resistors?
200
[ 211
A m
20

o Watch Video Solution



https://dl.doubtnut.com/l/_POdlwkw4vwHp

2. Draw a circuit diagram of an electric circuit
containing a cell, a key, an ammeter, a resistor
of 2() in series with a combination of two
resistors [4€) each] in parallel and a voltmeter
across the parallel combination. Will the
potential difference across the 2(2 resistor be
the same as that across the parallel

combination of 4() resistors? Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_FwOiBrFGGQz6

3. A current of 1ampere flows in a series circuit
containing an electric lamp and a conductor of
5} when connected to a 10 V battery.
Calculate the resistance of the electric lamp.
Now if a resistance of 102 is connected in
parallel with this series combination, what
change [if any] in current flowing through 5}
conductor and potential difference across the

lamp will take place? Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_KjvvGuoDRnzd
https://dl.doubtnut.com/l/_1sZADo8iibUM

4. Draw a schematic circuit diagram consisting
a battery, a plug key, an ammeter and a bulb
all connected in series with the bulb. Also

show a voltmeter across the bulb.

o Watch Video Solution

5. Why is an ammeter always connected in
series in a circuit? What change do you
observe in the reading of an ammeter if it is

connected in parallel in a circuit?

o Watch Video Solution



https://dl.doubtnut.com/l/_1sZADo8iibUM
https://dl.doubtnut.com/l/_E2G0Wtlu1in1

6. Two V-l graphs are drawn individually for
two resistors and their combination. Out of A
and B which one represents the graph for
parallel combination? Give reason for your
answer.

I B

J .

e

o Watch Video Solution



https://dl.doubtnut.com/l/_E2G0Wtlu1in1
https://dl.doubtnut.com/l/_fySTSVcAlctG

7. Show four different ways in which three
resistors of Rohm each may be connected in a
circuit. In which case is the equivalent
resistance of the combination.

i] Maximum

ii] Minimum

o Watch Video Solution

8. Two wires of equal length, one of copper

and the other of manganin [an alloy] have the


https://dl.doubtnut.com/l/_JOsvUbMrpA39
https://dl.doubtnut.com/l/_Ci3wAOQdFSom

same thickness. Which one can be used for
i] electrical transmission lines

ii] electrical heating devices? Why?

° Watch Video Solution

9. If Three resistors of 62, 92 and 212 are
connected in series to a 12 V battery, find

a] The total resistance of the circuit.

b] The current flowing through the circuit.

c] The potential difference across the 212

resistor.

| |


https://dl.doubtnut.com/l/_Ci3wAOQdFSom
https://dl.doubtnut.com/l/_WensBKURK2fD

& watch Video Solution I

10. Two resistances when connected in parallel
give resultant value of 2(), when connected in
series the value becomes 9€). Calculate the

value of each resistance.

° Watch Video Solution

11. i] Define electric potential difference. How is
ammeter connected in an electric circuit ?

ii] Explain the application of heating effect of


https://dl.doubtnut.com/l/_WensBKURK2fD
https://dl.doubtnut.com/l/_nMvka2lc8VYe
https://dl.doubtnut.com/l/_u3OyrIEUKE9o

electric current E in an electric bulb and the

fuse used in an electric circuit.

° Watch Video Solution

12.i] State Ohm's law
ii] Explain the factors on which the resistance

of a conductor depends.

° Watch Video Solution



https://dl.doubtnut.com/l/_u3OyrIEUKE9o
https://dl.doubtnut.com/l/_IdJd2PEE9G8p

13. Three 2} resistors, A, B and C, are
connected as shown in figure. Each of them
dissipates energy and can withstand a
maximum power of 18 W without melting. Find
the maximum current that can flow through

the three resistors?

200
[ 241
A @
a0

o Watch Video Solution



https://dl.doubtnut.com/l/_QON4IzeafKyd

14. Draw a circuit diagram of an electric circuit
containing a cell, a key, an ammeter, a resistor
of 2() in series with a combination of two
resistors [4€) each] in parallel and a voltmeter
across the parallel combination. Will the
potential difference across the 2(2 resistor be
the same as that across the parallel

combination of 4() resistors? Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_5uWMwmOLrSIi

15. A current of 1 ampere flows in a series
circuit containing an electric lamp and a
conductor of 5{) when connected to a 10 V
battery. Calculate the resistance of the electric
lamp. Now if a resistance of 10€2 is connected
in parallel with this series combination, what
change [if any] in current flowing through 5}
conductor and potential difference across the

lamp will take place? Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_EtJkj4DlzVIc
https://dl.doubtnut.com/l/_mUwWYMDXKXZA

16. Draw a schematic circuit diagram
consisting a battery, a plug key, an ammeter
and a bulb all connected in series with the

bulb. Also show a voltmeter across the bulb.

o Watch Video Solution

17. Why is an ammeter always connected in
series in a circuit? What change do you
observe in the reading of an ammeter if it is

connected in parallel in a circuit?

o Watch Video Solution



https://dl.doubtnut.com/l/_mUwWYMDXKXZA
https://dl.doubtnut.com/l/_matIzS2gHChe

18. Two V-l graphs are drawn individually for
two resistors and their combination. Out of A
and B which one represents the graph for
parallel combination? Give reason for your
answer.

I B

J .

e

o Watch Video Solution



https://dl.doubtnut.com/l/_matIzS2gHChe
https://dl.doubtnut.com/l/_esqS1WX7MmJ5

19. Show four different ways in which three
resistors of Rohm each may be connected in a
circuit. In which case is the equivalent
resistance of the combination.

i] Maximum

ii] Minimum

o Watch Video Solution

20. Two wires of equal length, one of copper

and the other of manganin [an alloy] have the


https://dl.doubtnut.com/l/_pFnUQ91zyLy8
https://dl.doubtnut.com/l/_J0A9YxPGFMev

same thickness. Which one can be used for
i] electrical transmission lines

ii] electrical heating devices? Why?

° Watch Video Solution

21. If Three resistors of 62, 92 and 21} are
connected in series to a 12 V battery, find

a] The total resistance of the circuit.

b] The current flowing through the circuit.

c] The potential difference across the 212

resistor.

| |


https://dl.doubtnut.com/l/_J0A9YxPGFMev
https://dl.doubtnut.com/l/_n2KqShVwYAyG

& Wwatch Video Solution I

22. Two resistances when connected in parallel
give resultant value of 2(), when connected in
series the value becomes 9). Calculate the

value of each resistance.

° Watch Video Solution

23. i] Define electric potential difference. How
is ammeter connected in an electric circuit ?

ii] Explain the application of heating effect of


https://dl.doubtnut.com/l/_n2KqShVwYAyG
https://dl.doubtnut.com/l/_0gRqB3ayE2RO
https://dl.doubtnut.com/l/_fu8oKmJBxCkA

electric current E in an electric bulb and the

fuse used in an electric circuit.

° Watch Video Solution

24. ] State Ohm's law
ii] Explain the factors on which the resistance

of a conductor depends.

° Watch Video Solution

Zen Additional Questions Section Long Answer

Questions


https://dl.doubtnut.com/l/_fu8oKmJBxCkA
https://dl.doubtnut.com/l/_xjMTtsANq1nR

1. State Ohm's law? How can it be verified
experimentally? Does it hold good under all

conditions? Comment.

o Watch Video Solution

2. What is electrical resistivity of a material?
What is its unit? Describe an experiment to
study the factors on which the resistance of

conducting wire depends.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_CvDGQ1B1eVKH
https://dl.doubtnut.com/l/_CHeBQZ9OMGSw

3. How will you infer with the help of an
experiment that the same current flows
through every part of the circuit containing
three resistances in series connected to a

battery?

o Watch Video Solution

4. How will you conclude that the same

potential difference [voltage] exists across


https://dl.doubtnut.com/l/_CHeBQZ9OMGSw
https://dl.doubtnut.com/l/_8hnQWcRxwT0j
https://dl.doubtnut.com/l/_gOiCg3eYgxgy

three resistors connected in a parallel

arrangement to a battery?

° Watch Video Solution

5. a] Obtain an expression for the equivalent
resistance of three resistors connected in
series. Also write the expressions for current
and voltage in the circuit.

b] Mention any two advantages of connecting

resistors in series.

° Watch Video Solution



https://dl.doubtnut.com/l/_gOiCg3eYgxgy
https://dl.doubtnut.com/l/_4nCFDq2XA6m0

6. a] Derive an expression for the equivalent
resistance of three resistors RI, R2 and R3
connected in a parallel.

b] Fuse of 3 A, 5 A and 10 A are available,
calculate and select the fuse for operating

electric iron of | kW power at 220 V line.

° Watch Video Solution

7.a] What is the function of fuse in an electric

circuit?


https://dl.doubtnut.com/l/_4nCFDq2XA6m0
https://dl.doubtnut.com/l/_XHS8QS53TEpq
https://dl.doubtnut.com/l/_upxvlB5L9e5j

b] What would be the rating of the fuse for an
electric kettle which is operated at 220V and
consumes 500W power?

c] How is the Sl unit of electric energy related

to its commerical unit?

o Watch Video Solution

8. a] State Ohm's law. Write it in the form of
equation and give graphical representation
for it.

b] An electric oven rated at 500W is connected


https://dl.doubtnut.com/l/_upxvlB5L9e5j
https://dl.doubtnut.com/l/_wpUOOx2nzlnT

to a 220V line and used for 2 hours daily.
Calculate the cost of electric energy per

month at the rate of Rs. 5 per kWh.

° Watch Video Solution

9. What is meant by resistance of conductor?
Name and define its Sl unit. List the factors by
which the resistance of a wire is affected.
What happens if

i] its length is doubled

ii] its radius is doubled?

| |


https://dl.doubtnut.com/l/_wpUOOx2nzlnT
https://dl.doubtnut.com/l/_h8tya9XtaRBG

& Wwatch Video Solution I

10. A household uses the following electrical
appliances:

i] Refrigerator of rating 400 W for 10 h each
day.

ii] Two electric fans of rating 80 W each for 6 h
daily.

iii] Six tube lights of 18 W each for 6 h daily.
Calculate the energy consumed per day by

each of these appliances in kWh.

° Watch Video Solution



https://dl.doubtnut.com/l/_h8tya9XtaRBG
https://dl.doubtnut.com/l/_jScg32jq8YNh

11. i] List the differences between electrical
resistance and resistivity of conductor.

ii] A copper wire of resistivity
1.63 x 10 %Q — m has cross section area of
10.3 x 10~ %em?. Calculate the length of the

wire required to make a 2052 coil.

o Watch Video Solution

12. i] Heating elements of electrical heating

devices is made up of an alloy rather than a


https://dl.doubtnut.com/l/_jScg32jq8YNh
https://dl.doubtnut.com/l/_Js4S6aECe2iV
https://dl.doubtnut.com/l/_VPspauWmKyR5

pure metal. Give two reasons.

ii] Four resistors of 2(2 each are joined end to
end to form a square. Calculate the equivalent
resistance of the combination between two

adjacent corners?

o Watch Video Solution

13. Obtain an expression for the heat
produced in a conductor when a voltage V is

applied across it. Heating effect of electric


https://dl.doubtnut.com/l/_VPspauWmKyR5
https://dl.doubtnut.com/l/_FjtnI0ERzPWX

current is desirable as well as undesirable.

Explain this statement.

° Watch Video Solution

14. Compare the power used in the 2€) resistor
in each of the following circuits:

i] a 6 V battery in series with 1€} and 2{2
resistors, and

ii] a 4 V battery in parallel with 12€} and 2(2

resistors.

o Watch Video Solution



https://dl.doubtnut.com/l/_FjtnI0ERzPWX
https://dl.doubtnut.com/l/_ONUyP3mScSMp

15. a] Define electric resistance of a conductor.
b] List the factors on which resistance of a
conductor depends.

c] Resistance of a metal wire of length 1 m is
1042 at 20°C. If the diameter of the wire is
0.15 mm, find the resistivity of the metal at this

temperature.

o Watch Video Solution



https://dl.doubtnut.com/l/_ONUyP3mScSMp
https://dl.doubtnut.com/l/_YnzUTl5zAcPL

16. State Ohm's law? How can it be verified
experimentally? Does it hold good under all

conditions? Comment.

o Watch Video Solution

17. What is electrical resistivity of a material?
What is its unit? Describe an experiment to
study the factors on which the resistance of

conducting wire depends.

° Watch Video Solution



https://dl.doubtnut.com/l/_jpK1to6ED1d7
https://dl.doubtnut.com/l/_WJiYg5KzkZXw

18. How will you infer with the help of an
experiment that the same current flows
through every part of the circuit containing
three resistances in series connected to a

battery?

o Watch Video Solution

19. How will you conclude that the same

potential difference [voltage] exists across


https://dl.doubtnut.com/l/_WJiYg5KzkZXw
https://dl.doubtnut.com/l/_JxbvwUhDgaFn
https://dl.doubtnut.com/l/_GR5GEMddFoS0

three resistors connected in a parallel

arrangement to a battery?

O Watch Video Solution

20. a] Obtain an expression for the equivalent
resistance of three resistors connected in
series. Also write the expressions for current
and voltage in the circuit.

b] Mention any two advantages of connecting

resistors in series.

° Watch Video Solution



https://dl.doubtnut.com/l/_GR5GEMddFoS0
https://dl.doubtnut.com/l/_2J7ysnkhBvlm

21. a] Derive an expression for the equivalent
resistance of three resistors RI, R2 and R3
connected in a parallel.

b] Fuse of 3 A, 5 A and 10 A are available,
calculate and select the fuse for operating

electric iron of | kW power at 220 V line.

° Watch Video Solution

22. a] What is the function of fuse in an

electric circuit?


https://dl.doubtnut.com/l/_2J7ysnkhBvlm
https://dl.doubtnut.com/l/_NTbplloY3Mog
https://dl.doubtnut.com/l/_NT8gvL5Sko8j

b] What would be the rating of the fuse for an
electric kettle which is operated at 220V and
consumes 500W power?

c] How is the Sl unit of electric energy related

to its commerical unit?

o Watch Video Solution

23. a] State Ohm's law. Write it in the form of
equation and give graphical representation
for it.

b] An electric oven rated at 500W is connected


https://dl.doubtnut.com/l/_NT8gvL5Sko8j
https://dl.doubtnut.com/l/_ML2VTDQtqx0W

to a 220V line and used for 2 hours daily.
Calculate the cost of electric energy per

month at the rate of Rs. 5 per kWh.

o Watch Video Solution

24. What is meant by resistance of conductor?
Name and define its Sl unit. List the factors by
which the resistance of a wire is affected.
What happens if

i] its length is doubled

ii] its radius is doubled?

| |


https://dl.doubtnut.com/l/_ML2VTDQtqx0W
https://dl.doubtnut.com/l/_dAm5xEDq8w3N

& Wwatch Video Solution I

25. A household uses the following electrical
appliances:

i] Refrigerator of rating 400 W for 10 h each
day.

ii] Two electric fans of rating 80 W each for 6 h
daily.

iii] Six tube lights of 18 W each for 6 h daily.
Calculate the energy consumed per day by

each of these appliances in kwWh.

O Watch Video Solution



https://dl.doubtnut.com/l/_dAm5xEDq8w3N
https://dl.doubtnut.com/l/_Tv4MqBLppgr9

26. i] List the differences between electrical
resistance and resistivity of conductor.

ii] A copper wire of resistivity
1.63 x 10 8Q — m has cross section area of
10.3 x 10~ %em?. Calculate the length of the

wire required to make a 2052 coil.

o Watch Video Solution

27. i] Heating elements of electrical heating

devices is made up of an alloy rather than a


https://dl.doubtnut.com/l/_Tv4MqBLppgr9
https://dl.doubtnut.com/l/_jGXaZ5Dco9dw
https://dl.doubtnut.com/l/_l8LrOzTFiAtW

pure metal. Give two reasons.

ii] Four resistors of 2(2 each are joined end to
end to form a square. Calculate the equivalent
resistance of the combination between two

adjacent corners?

o Watch Video Solution

28. Obtain an expression for the heat
produced in a conductor when a voltage V is

applied across it. Heating effect of electric


https://dl.doubtnut.com/l/_l8LrOzTFiAtW
https://dl.doubtnut.com/l/_RMiVso57gzqp

current is desirable as well as undesirable.

Explain this statement.

° Watch Video Solution

29. Compare the power used in the 22 resistor
in each of the following circuits:

i] a 6 V battery in series with 1€} and 2{2
resistors, and

ii] a 4 V battery in parallel with 12€} and 2(2

resistors.

o Watch Video Solution



https://dl.doubtnut.com/l/_RMiVso57gzqp
https://dl.doubtnut.com/l/_kZrBh4NbdPf6

30. a] Define electric resistance of a conductor.
b] List the factors on which resistance of a
conductor depends.

c] Resistance of a metal wire of length 1 m is
1042 at 20°C. If the diameter of the wire is
0.15 mm, find the resistivity of the metal at this

temperature.

o Watch Video Solution



https://dl.doubtnut.com/l/_kZrBh4NbdPf6
https://dl.doubtnut.com/l/_jvebMVi6hWYK

